4. PBBERR

ERER nZEstt PBB{#
=% JALT JL—T 72%
= ANAS )L—T 90%
Jb i JALY JL—T 98%
Jb uin RAE—T54¥— 91%
& JALY IL—T 100%
15 [ ANAS )L—T 99%
13 [ RE—I754 ¥ — 73%
& AHAI—4 93%
KI5 JALST IL—TF 92%
RIG ANAS JL—T 97%
RIG VYSURIT 86%
HEAR JALY JL—T 99%
BEXR ANAS )L—T 79%
BEX YSVRITF 84%
x5 JALY JL—T 89%
x5 ANAS )L—T 58%
x5 JYSURIF 89%
= JALST IL—TF 87%
= ANAS JL—T 59%
= VYSURIT 85%
ERE JALST IL—TF 99%
BRE ANAS JL—T 92%
BERE 2HL4<T—4 70%
BERE YSVERIT 87%
i JALY JL—T 100%
i ANAS )L—T 95%
i AHAT—4 98%
= JALST IL—TF 100%
== ANAS JL—T 93%
ais JALY JL—T 100%
ais ANAS )L—T 97%

[30£F48]
OFHZTHE
ERER nZEstt PBB{#
i Al JALG )L—T 83%
25 Al AIRDO 78%
A JALY JL—T 84%
HEJI AIRDO 95%
FIES JALY )L—T 68%
FIES ANAS JL—T 90%
HIIER AIRDO 97%
Gl JALY JL—T 66%
Gl AIRDO 27%
T JALY JL—T 100%
T ANAS JL—T 95%
T AIRDO 92%
T 2HL4<T—4 99%
BREE JALY )L—T 100%
BREE ANAS JL—T 68%
EREE AIRDO 76%
HE JALY )L—T 98%
HE ANAS JL—T 81%
MR JALY JL—T 90%
MR ANAS )L—T 78%
FEp JALY JL—T 75%
FEB ANAY )L—T 97%
F JALY JL—T 100%
F ANAS JL—T 100%
Ealii] JALY )L—T 99%
Ealii] ANAS JL—T 96%
Ealii] RE—I754 ¥ — 61%
A ANAS JL—T 93%
HE 2HL4<T—4 92%
i L JALY JL—T 98%
i L ANAS )L—T 92%
N=) JALY JL—T 95%
N=) ANAS )L—T 81%
IOFEp JALY JL—T 74%
IOFEp ANAY )L—T 85%
IWOFE | R4—I514%— 80%
= JALY JL—T 95%
= ANAY JL—T 58%
®mE JALY JL—T 99%
®me ANAY JL—T 60%
NI JALY JL—T 89%
NI ANAY )L—T 98%

O Tz iE

BRER fnZest PBB{f fE
FIH JALZ )L—T 100%
FH ANAS JL—T 98%
FH AIRDO 100%
FH AHAT—4 97%

25 Al JALY JL—T 67%

25 Al ANAS JL—T 60%
& JALY JL—T 83%
& ANAS JL—T 74%
HE JALS IL—TF 99%
A ANAS JL—T 70%
= JALY JL—T 99%
= ANAS )L—T 94%
= AIRDO 100%
= Peach* Aviation 57%
= FARYIRIFSAVR 0%
5 JALY JL—T 96%
s ANAS JL—T 86%
BH JALST IL—TF 100%
BH ANAS JL—T 100%
FH DIYhRE— T\ 95%
BH IN=F-I7F 98%
FEp JALY JL—T 100%
FEp ANAS JL—T 99%
FEp AIRDO 95%
g Ef SR RE— TRy 95%
FEp IFFOT Dy 88%
FEB 2HL4<T—4 100%
F JALY JL—T 100%
F ANAS JL—T 100%
Ealii] JALST IL—TF 100%
Ealii] ANAS JL—T 98%
Eakif] Peach - Aviation 100%
3] DIYbRE—- Ty 99%
A ANAS JL—T 95%
A AIRDO 54%
A 2HL4<T—4 70%
N=) JALY JL—T 100%
N=) ANAY )L—T 100%
& JALY )L—T 100%
& ANAS JL—T 100%
18 [E Peach - Aviation 100%
12 AHAI—4 53%




Ofaffz %

OLBZTH
BRER fnZesit PBB{ff®E
FIH JALT )L—T 100%
FH ANAS JL—T 100%
T JALY JL—T 100%
T ANAS )L—T 100%
OEBZTH
BRER R PBB{fHE
FIH JALG )L—T 100%
FH ANAS )L—T 100%
Odb i ZeE
BRER fnZesit PBB{ff®E
FIH JALT )L—T 100%
FH RE—T54¥— 100%
OMILZHE
BRER R PBB{fHE
FIH JALG )L—T 100%
FH ANAS JL—T 100%
F JALY JL—T 100%
F ANAS )L—T 89%
OEHZ#
BRER fnZesit PBB{ff®E
FH JALG )L—T 100%
FH ANAY JL—T 100%

Ofllgz &
BRER fnZesit PBB{ff®E
FIH JALD )L—T 100%
FH ANAY )L—T 100%
FH AIRDO 100%
OEfEZ*
BRER fnZesit PBB{f fE
FH JALG )L—T 100%
FH ANAY JL—T 100%
FH AIRDO 100%
FEp ANAS JL—T 100%
FEB AIRDO 100%
F JALY )L—T 100%
# ANAY JL—T 100%
O#iaZH
BRER fnZesit PBB{ff®E
T JALG )L—T 100%
#51 JALY )L—T 100%
F ANAY )L—T 100%
F FARYIRITSAV R 100%
12k FARYIRITFA2R 100%
2 7Y F)=LI7FAVR 100%
O/MAZE;
BRER R PBB{f HE
FIH JALG )L—T 100%
FH ANAY )L—T 100%

BRER fnZesit PBB{ffE
FIH JALD )L—T 100%
FH ANAS )L—T 100%
FH RE—T54¥— 86%
FH AHAT—4 88%
T JALY JL—T 100%
TR ANAS )L—T 100%
Tk Peach-Aviation 98%
FTE ANAI—4 88Y%
= JALY JL—T 72%
= ANAS JL—T 32%
5 7Y NY=LIFFAVR 93%
B H JALY )L—T 54%
o] ANAY JL—T 67%
oAz Peach*Aviation 71%
FH DIYrRE— T\ 82%
aaksi ANAY JL—T 91%
aak:il RB—ID54 NV — 98%
thZf STubRE— xR 7%
F JALY JL—T 43%
F ANAS JL—T 86%
Ealii] ANAS JL—T 0%
Ealii] Peach* Aviation 49%
E3Fid) STYRRE—- TR 38%
= I JALY IL—T 78%
= I ANAY JL—T 0%
B JALY )L—T 99Y%
EES ANAS JL—T 86%
AR Peach - Aviation 51%
EES AHAT—4 59%




OKXR S ZE}

OERBEZE
BRER fnZesit PBB{ffE
FIH JALD )L—T 100%
FH ANAS )L—T 100%
FH AHAT—4 85%
FH JYSURIF 100%
FE ANAS JL—T 100%
th g STy RE—- TRy 93%
F53 JALS IL—TF 100%
F53 ANAY JL—T 100%

OFRFRZE;

BRER fnZesit PBB{ff®E
FIH JALT )L—T 100%
FH ANAS )L—T 97%
FH AHAT—4 92%
BH ANAS JL—T 100%
FH DIYrRE— T\ 65%
BH IN=F-I7F 0%
FE JALST IL—TF 87%
FE ANAY JL—T 47%
thE STy RE—- TRy 70%
FE AHAI—4 72%
FE YSVRITF 100%
F JALY JL—T 100%
F ANAS JL—T 98%
Ealii] JALST IL—TF 97%
Ealii] ANAS JL—T 74%
EaLif] Peach* Aviation 0%
o STubRE—TxRY 98%
A 2HL4<T—4 83%
#HE VYSURIT 67%
& JALY IL—T 99%
& ANAS JL—T 84%
188 Peach - Aviation 0%
& AHAI—4 75%
= JALY )L—T 97%
== ANAY JL—T 83Y%

ais JALY JL—T 78%

ais ANAS )L—T 89%

HaiE VYSURIT 79%

Bis ZEstt PBB{ff®E

FIH JALD )L—T 100%

FH ANAS JL—T 100%

FH YSURIF 100%

F JALY JL—T 90%

F FARYIRITSA R 50%
ORIGZ*

Bis ZEstt PBB{ff®E

FIH JALT )L—T 100%

FH ANAS JL—T 100%

FH YSURIF 100%

F JALY JL—T 100%

EF ANAS JL—T 100%
OREARZH

Bis ZEstt PBB{ff®E

FIH JALT )L—T 100%

FH ANAS JL—T 100%

FH YSURIF 100%

F JALY JL—T 100%

EF ANAS JL—T 100%
OElFZeH

’is ZEstt PBB{ffE

FIH JALT )L—T 100%

FH ANAS JL—T 100%

FH YSURIF 100%

F JALY JL—T 100%

EF ANAS JL—T 99%

2 JALST IL—TF 100%

2 ANAS JL—T 100%

12 E FIIVELNTIT IS 100%




[3055H]

iR st PBBEHE
=& JALG )IL—T 82%
=5 ANAY JL—T 82%
Jb Ju i JALY IL—T 96%
Je ARA—D54¥— 90%
12 JALY IL—T 100%
26 ANAS JL—T 99%
12 AA—D54¥— 74%
12 AhA4=—4 94%
K& JALY IL—T 90%
Ei& ANAY JL—T 97%
K& YSVRIF 86%
BEN JALY )L—T 100%
RER ANAY JL—T 91%
EER YSIRIT 79%
PN JALY IL—T 91%
x5 ANAS JL—T 76%
PN YSVRIF 89%
= 1% JALY )L—T 80%
= ANAG JL—T 70%
= 1% YSIRIT 85%
BRE JALY IL—T 98%
ERE ANAY JL—T 84%
BRE AHAR—5 71%
ERE YSLRIT 84%
i JALY IL—T 99%
T ANAS JL—T 94%
i AALR—H 98%
= JALY )L—T 100%
== ANAG JL—T 42%
#AaiE JALY )L—T 98%
HAE ANAY JL—T 96%

OPHEZEH
iR st PBBEHE
=i Al JALG )IL—T 85%
2 Al AIRDO 72%
fBJII JALY IL—T 80%
AN AIRDO 92%
HIlE& JALY IL—T 77%
Il E& ANAY JL—T 60%
HIlE& AIRDO 98%
WL JALY )L—T 62%
wIh AIRDO 37%
T JALY )L—T 99%
T ANAY JL—T 96%
T AIRDO 93%
TR AHAR—5 95%
EKEE JALY )IL—T 98%
EKEE ANAG JL—T 79%
EKEE AIRDO 75%
FUHE JALY JL—T 97%
P E ANAY JL—T 65%
NN JALY IL—T 89Y%
RN ANAY JL—T 81%
&6 JALY IL—T 94%
FEB ANAS JL—T 87%
# JALY IL—T 100%
F1 ANAS JL—T 99%
£k JALY IL—T 95%
£kt ANAY JL—T 94%
£k RE—0754¥— 61%
HE ANAS JL—T 90%
#HE AHAR—5 91%
i L JALY )L—T 97%
& L ANAG JL—T 91%
LE JALY )L—T 95%
N=) ANAY JL—T 85Y%
IN=EE JALY )L—T 72%
LAFE ANAG JL—T 81%
WAFEE | R3—T7514Y¥v— 82%
=i JALY IL—T 96%
=0 ANAY JL—T 61%
=) JALY IL—T 98%
mE ANAY JL—T 36%
b3 L JALY IL—T 89Y%
LI ANAY JL—T 99%

O Tz iE

R fnze st PBB{E X
FIH JALZIL—T | 100%
FH ANAY JL—T 99%
FH AIRDO 100%
FH AHAI—Y 94%

2 Al JALY IL—T 69%

2 Al ANAY JL—T 63%
=575 JALY IL—T 83Y%
5 ANAY JL—T 83%
FUHE JALY IL—T 100%
N H ANAY JL—T 70%
& JALY IL—T 93%
= ANAY JL—T 98%
& AIRDO 99%
= Peach* Aviation 50%
= FARYIAITF SV X 0%
s JALY )L—T 94%
s ANAY JL—T 88Y%
& H JALY )IL—T 100%
B H ANAY JL—T 100%
BKH DIYRRE— D/ 98%
B H IN=F-IT 95%
EB JALY )L—T 100%
&6 ANAY JL—T 100%
EB AIRDO 98%
b Ep CTyhRE—- Ty 98%
EB IFF7OT vy 95%
Ea AALR—H 98%
#3 JALY )L—T 100%
# ANAG JL—T 100%
£kt JALY )IL—T 100%
£k ANAG JL—T 100%
] Peach* Aviation 99%
£k STy RI—-TwsR 99%
#HE ANAY JL—T 98%
#HE AIRDO 52%
#HE AhA4=—4 67%
N=) JALY IL—T 100%
LB ANAY JL—T 100%
12 JALY )IL—T 100%
12k ANAY JL—T 100%
e Peach*Aviation 100%
26 AhA4=—4 53%




Ofllzgz=#

IR fZe st PBB{E A=
FIH JALG IL—T 100%
FH ANAY JL—T 100%
F1H AIRDO 100%
OKEEE
PRER st PBB{# fAx
FIH JALY JL—T 100%
FIH ANAY JL—T 100%
F1H AIRDO 100%
EB ANAS JL—T 100%
&6 AIRDO 100%
F51 JALY IL—T 100%
F51 ANAY JL—T 100%
O#azEE
iR mZe it PBB#EHE
T JALG )L—TF 100%
# JALY JL—T 100%
F ANAG JL—T 100%
5 FARYIRIT AV X 99%
Fe| FARYIRITSAV R 100%
26 7V MNY=LITFAVR 100%
O/ ZE;
BRAR st PBB{# A&
FIH JALG )L—T 100%
FH ANAG JL—T 100%

OLEZE®E
BRI &% PBB{# AE
FIH JALZ)L—T | 100% |
FH ANAY JL—T 100%
T JALY IL—T 100%
T ANAS JL—T 100%
OfEEZEE
BB HR finZEst PBB{fEFHE
FH JALZ)L—J | 100% |
FH ANAG JL—T 100%
Odb i zE i
IR fiZe st PBB{E X
FIH JALZ)L—T | 100% |
FH ARA—D54¥— 100%
OMILZE;
B R it | PBBEAE
FH JALZ)L—J | 100% |
FH ANAG JL—T 100%
F JALY )L—T 100%
F ANAG JL—T 88Y%
OEMZEH
PRER &% PBB{# A=
FIH JALG )L—TF 100%
FIH ANAY JL—T 100%

OfEEZEHE
BRI &% PBB{# Ax
FIH JALZ)L—T | 100% |
FH ANAY JL—T 100%
JF1H REA—T754¥v— 89%
FH AhA4=—4 89%
TR JALY IL—T 100%
T ANAS JL—T 100%
T Peach- Aviation 87%
T AhA<R—5 97%
& JALY IL—T 70%
= ANAY JL—T 37%
s 7Y FNY=LITFAIR 100%
& H JALY IL—T 92%
& H ANAY JL—T 70%
B H Peach* Aviation 68%
B H STk RA—- Ty 86%
ekl ANAY JL—T 85%
FE RBE—D54¥— 97%
i CIYhRE—- Ty 11%
F JALY IL—T 16%
F ANAY JL—T 90%
Ealii] ANAG JL—T 0%
] Peach* Aviation 68%
£k STy RI—-TwsR 81%
= 1% JALY )L—T 74%
= ANAY JL—T 0%
R JALY JL—T 98%
T ANAG JL—T 86%
IER Peach* Aviation 49%
i AALR—H 63%




OERREZE#

R fnze st PBB{E X
FIH JALZIL—T | 100%
FH ANAY JL—T 100%
JF1H APBAR—Y 91%
FH YSVRIT 100%
&6 ANAY JL—T 100%
hEB SIYRRE— TR 75%
F51 JALY IL—T 100%
F ANAY JL—T 100%

OMERZE;

IR fnZe st PBB{E =
FIH JALG IL—T 100%
FH ANAY JL—T 97%
JF1H ABAR—Y 91%
oA ANAY JL—T 100%
o= SIYhRA—- TRy 68%
R H IN=T-TF 0%
FEB JALY IL—T 88Y%
i akil ANAS JL—T 44%
== CIyhRE—- Ty 59Y%
CakTE AhAI—=% 77%
FEB YSURIF 94%
F JALY )L—T 100%
# ANAG JL—T 96%
Ealii] JALY )IL—T 95%
Ealii] ANAG JL—T 79%
] Peach* Aviation 0%
E3li] CIYhRE—- Ty 76%
#HE AhA4=—4 53%
#HE YSURIF 81%
26 JALY )L—T 99%
12 ANAY JL—T 90%
12k Peach* Aviation 0%
12 AHAR—5 75%
=a JALY )L—T 97%
=a ANAS JL—T 86%

#AaiE JALY )L—T 91%

AiE ANAY JL—T 97%

AiE YSLRIT 74%

OKpZE;
IR fZe st PBB{E A=
FIH JALG IL—T 100%
FH ANAS JL—T 100%
JF1H JYSURIT 100%
#3 JALY )L—T 88%
Ft FARYYRIFSAVR 47%
ORIB{ZEHE
IR TS PBB{EFAE
FIH JALG IL—T 100%
FH ANAY JL—T 100%
JF1H JYSURIT 100%
#3 JALY )L—T 100%
#3 ANAG JL—T 100%
OBEARZE;
IR fiZe st PBB{EFAE
FIH JALG IL—T 100%
FH ANAY JL—T 100%
JF1H JYSURIT 100%
#3 JALY IL—T 99%
#3 ANAG JL—T 100%
@)=
IR TS PBB{EFAE
FIH JALG IL—T 100%
FH ANAY JL—T 99%
JF1H JYSURIT 100%
#3 JALY )L—T 100%
#3 ANAG )L—T 100%
26 JALY )L—T 100%
12 ANAY JL—T 97%
12 FUTLALTT IS 97%




[3056H]

iR st PBBEHE
=& JALG )IL—T 80%
=5 ANAY JL—T 70%
Jb Ju i JALY IL—T 99%
Je ARA—D54¥— 90%
12 JALY IL—T 100%
26 ANAS JL—T 98%
12 AA—D54¥— 75%
12 AhA4=—4 93%
K& JALY IL—T 81%
I ANAY JL—T 97%
K& YSURIT 88%
BEN JALY )L—T 99%
RER ANAY JL—T 92%
EER YSIRIT 84%
PN JALY IL—T 90%
x5 ANAS JL—T 73%
PN YSVRIF 91%
= 1% JALY )L—T 76%
= ANAG JL—T 62%
= I YSIRIT 85%
BRE JALY IL—T 98%
ERE ANAY JL—T 78%
BRE AHAR—5 73%
ERE YSLRIT 88%
i JALY IL—T 100%
T ANAS JL—T 95%
i AALR—H 98%
= JALY )L—T 100%
== ANAG JL—T 65%
#AaiE JALY )L—T 100%
HAE ANAY JL—T 99%

OPHEZEH
iR st PBBEHE
=i Al JALG )IL—T 89%
2 Al AIRDO 75%
fBJII JALY IL—T 100%
AN AIRDO 91%
HIlE& JALY IL—T 81%
Il E& ANAY JL—T 47%
HIlE& AIRDO 98%
WL JALY )L—T 95%
wIh AIRDO 41%
T JALY )L—T 99%
T ANAY JL—T 95%
A AIRDO 91%
TR AHAR—5 97%
EKEE JALY )IL—T 98%
EKEE ANAG JL—T 75%
EKEE AIRDO 73%
FUHE JALY JL—T 95%
P E ANAY JL—T 62%
NN JALY IL—T 85%
RN ANAY JL—T 82%
&6 JALY IL—T 98%
FEB ANAS JL—T 95%
# JALY IL—T 100%
F1 ANAS JL—T 100%
£k JALY IL—T 98%
£kt ANAY JL—T 95%
£k RE—0754¥— 59%
HE ANAS JL—T 91%
#HE AHAR—5 92%
i L JALY )L—T 95%
& L ANAG JL—T 81%
LE JALY )L—T 96%
N=) ANAY JL—T 83Y%
IN=EE JALY )L—T 53%
LAFE ANAG JL—T 76%
WAFEE | R3—T7514Y¥v— 83%
=i JALY IL—T 88Y%
=0 ANAY JL—T 63%
=) JALY IL—T 91%
mE ANAY JL—T 40%
b3 L JALY IL—T 86%
LI ANAY JL—T 93%

O Tz iE

R fnze st PBB{E X
FIH JALZIL—T | 100%
FH ANAY JL—T 100%
F1H AIRDO 100%
FH AHAI—Y 92%

2 Al JALY IL—T 59%

2 Al ANAY JL—T 62%
=575 JALY IL—T 83Y%
5 ANAY JL—T 73%
FUHE JALY IL—T 99%
N H ANAY JL—T 63%
& JALY IL—T 99%
= ANAY JL—T 98%
& AIRDO 100%
= Peach* Aviation 54%
= FARYIAITF SV X 0%
s JALY )L—T 92%
s ANAY JL—T 90%
& H JALY )IL—T 100%
B H ANAY JL—T 100%
B H CrypRE—- Ty 96%
B H IN=F-IT 87%
EB JALY )L—T 100%
&6 ANAY JL—T 100%
EB AIRDO 98%
b Ep CTyhRE—- Ty 99%
&R IFT7OT xRy 91%
Ea AALR—H 98%
#3 JALY )L—T 100%
# ANAG JL—T 100%
£kt JALY )IL—T 100%
£k ANAG JL—T 100%
] Peach* Aviation 99%
£k SIYhRA—- TRy 97%
#HE ANAY JL—T 100%
#HE AIRDO 52%
#HE AhA4=—4 71%
N=) JALY IL—T 100%
LB ANAY JL—T 100%
12 JALY )IL—T 100%
12k ANAY JL—T 100%
e Peach*Aviation 98%
12 AhA4=—4 55%




Ofllzgz=#

IR fZe st PBB{E A=
FIH JALG IL—T 100%
FH ANAY JL—T 100%
F1H AIRDO 100%
OKEEE
PRER st PBB{# fAx
FIH JALY JL—T 100%
FIH ANAY JL—T 100%
F1H AIRDO 100%
F1 JALY )L—T 100%
# ANAG JL—T 100%
Oo#mBazEE
iR st PBB#EHE
¥m | JALGIL—T [ 100%
T ANAS JL—T 100%
# JALY )L—T 100%
# ANAY JL—T 100%
ik FARYHRITSAVR 97%
127 FARYIRITSAVR 56%
12 7Y F)=LITFAVAR 100%
O/IhirZEH
PR &% PBB{# Ax
FIH JALG IL—T 100%
FH ANAS JL—T 100%

OLBZEH
BRI &% PBB{# AE
FIH JALZIL—T | 100%
FH ANAS JL—T 100%
T JALY IL—T 100%
T ANAS JL—T 100%
OEEZEH
BRHR TSt  [PBBERE]
FIH JALG )L—T 100%
FH ANAG JL—T 100%
Odt i ZE%
IR fiZe st PBB{E X
FIH JALZIL—T | 100%
FH ARE—D054¥— 100%
OMILZ=H
ERER fnZestt PBBERZE
FH JALZ)L—J | 100% |
FH ANAG JL—T 100%
#3 JALY )L—T 100%
F ANAG JL—T 88Y%
OEMZEH
PR &% PBB{# A=
FIH JALZIL—T | 100%
FH ANAY JL—T 100%

OfEEZEHE
BRI &% PBB{# Ax
FIH JALZIL—T | 100%
FH ANAY JL—T 100%
JF1H REA—T754¥v— 96%
FH AHAI—Y 85%
TR JALY IL—T 100%
T ANAS JL—T 100%
T Peach- Aviation 88Y%
T AhA<R—5 97%
& JALY IL—T 27%
= ANAY JL—T 30%
s 7Y F)=LITFAVR 80%
& H JALY IL—T 100%
& H ANAY JL—T 61%
R H Peach*Aviation 69%
& H STy RI—-TwsRy 83Y%
B ANAY JL—T 94%
aaked RE—D754¥— 97%
i CIYhRE—- Ty 25%
F JALY IL—T 11%
F ANAY JL—T 86%
Ealii] ANAG JL—T 5%
Ealic] Peach* Aviation 72%
£k STy RI—-TwsR 95%
= 1% JALY )L—T 66%
AR JALY IL—T 99%
R ANAY JL—T 82%
AR Peach* Aviation 49%
AR AHAR—Y 88%




OERREZE#

R fnze st PBB{E X
FIH JALZIL—T | 100%
FH ANAY JL—T 100%
JF1H APBAR—Y 84%
FH YSVRIT 100%
&6 ANAY JL—T 100%
hEB SIYRRE— TR 89%
F51 JALY IL—T 100%
F ANAY JL—T 100%

OMERZE;

IR fnZe st PBB{E =
FIH JALG)IL—T | 99%
FH ANAY JL—T 97%
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